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ECONOMICS 211

TIME DURATION: 150 MINUTES

INSTRUCTOR: RAMADAN

100 QUESTIONS. CIRCLE THE RIGHT ANSWER

‘ Why are collzge graduates ger paid more, on aver-

age, than high school graduares?
The supply of college graduates is l=ss than the
supply of high s'hool graduarss. "
College graduates have higher mzrginal products
than do high school graduates.
The dzmand for college graduates oxceeds the
demand for hxvh schoo] oraduat._s

] ﬁ All of the abovc answers are cotrect

- ﬁ‘ A market scrucrure in which thers is only ons=
buyer is a(n)

® monopoly.
9 monopsony.
@  oligopoly.
B compeddve market. \<

B If your labor supply increases when you ger a
raise, which of the following is que?
Your subsdrudon effect is greater than your in- -
come effect
Your subsdtudon effect is less than your incom
effect :
Your substitudon effect equals your income ef-
fect.
* None of the above answers are comrect.
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N

= A Bacl‘.kvs'a:d—bcnding supply curve of labor exists

whenever

‘ the substituton effect of 2 wage increase is larger
chan the income effect of that wage increase.

E " the substrudon effect of a wage increase is
smalle: than the income effect of that wage in-
aease. " .

. he substrudon effect and the income effect of 2
wage increase work in the same direcdon.

‘ he subsutudon effect and the income effect of 2

sage increase work in opposite directons.

= Averagc fixed cost is cquz_l 0

&  tonl cost divided by quandy.
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The above figure shows the demand and supr:y
curves for high-skilled and low-skilled labos. "¢
wage differential berween high-skilled and fow-
skilled labor is

$4.00.
e @ s5.00
- ® sc.o0.
@ s7.00
§& The above ﬁourc shows the demand and s::;
curves for h.luh-sk.lllf:d and low-skilled 1a-¢.
wage rate
of high-skilled labor is $7 00 and of lowesiciind
8 labor is $6.00.
@ of high-skilled labor is $9.00 and of low-skilied
“ labor is $7.00.
@  ofhich-skilled labor is $6.00 and of low-c'sed -
labor is $4.00.
@ of high-skilled labor is $9.00 and of jow-¢:" =4
labor is $4.00. . :
88 When a group is discriminared against i
@ wages fall bur its employment does pex.
Q exnployment and its wages decrease.
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B I there is 2 change in legisladion thar makesic
easier for hospials to substicute other health care
‘professionals for nurses, then the dcmand for
nursas will become

Jess elastic

more elastic

this change will not affect the elasdcity of de-

.

le.

@f Which of the following is NOT a profit «
mizing conditon under perfect competic.:
é
a2

Marginal revenue = marginal cost
Marginal revenue product = wage raiz.
Pncc marginal cost.

None of the above because all the conzis
profit maximizing,

mend for nurses
frst more elastic, then less elastic

W All else squal, if violins are produced using a pro-
ducdon process in-which capital cannot be r:adﬂy
substiruted for labor, then the

@  demand for labor will be highly elastic.

® demand for labor will be somewhar elasdc. |
@ demand for labor will be unit elastic. '
& &cmand for labor will be inelasdec.

® ©%8

W When the price of the producr it produces rises,
‘the firm’s
@ demand for labor curve shifts righeward, A
® demiand for labor curve shifts lefoward. : !
@ dcmand for labor curve remains unchanged. n
' output decreases. 5
is the same s its marginal revenue product of.
labor curve, .
shows, how miuch labor the firm }um at difrerent
wags rates.
shifts righeward when the price of the firm’s

outpyt increasss,
« ALL of the above answers are correct.

A frm’s. demind for labor curve
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i The demiand for Jabor d-p—nds on:
L Technology

. Pricss of resources other than labor
IM. Priee of the product.

® landl '

$§ HandIO -
® IlandI e
® LDadIO

Quandry Marginal Tas
oflabor: | Our- | revenue product | rev:
(workers) | pur _ (dollars) . | {dci
(units) '
0 0 0
)| 10 100 1
2 18 - 80 181
3 24 60 " 248 '
4 28 40 2848
5 | 30 20 300

8 Based on the producton and rev =nue datz
2bove table, whar is the marginal proch-

dch worker?
8 =
] 6.-
& 4
® 2

Based on he, f)mducﬁbn and revenué data §
above tzbl- what is the price of the' procn_v

@ si00.

@ s

® s

® More information is needed to determirc
price of the product.

Based on the producton and revenue daza i
above table, if the v.agc%atc is $20 per wori

how many workers will be hired?

-

iby; W

N oW

" B Ifthe current wage (W) is lr_ss than the marginal
revenue product (MRP), then the firm should

hire less Jabor, which will increase the MRP. ®
hire more labor, which will dcaés\. the MRP.
hire no more or'less labor; because profits are b\

greatest when W < MRP.
hire more labor, because hiring more labor will
increase the Wand MRP undl they are.equal.

@ Which of the following indicates thar a firm s
maximizing its profic?

L Marginal revenue equals marginal cost.

IO  Marginal revenue produce equzls the wage. A

Ionly :

I only.

BothIand IL.

N atrhor T mar IT

.

U

&
8
&

. [ A firm should hire more workers as long zs

€ marginal revenue exceeds the wage.

® marginal revenue is less than the wage.

@ marginal revenue product exceeds the wag:.

® marginal product exceeds the wage.
B o 2 firm thar can sell is ourpur for $40 per LJ"t
decides to increase its labor force from 4 4 worican
0 ﬁvc, and ourput increases from 15 to .7 =

the marginal revenue product of the 5th L5t o
labor is.

@  $680.
@& $340.
B sso.
& 540,



Tebor Ot & A the quantiry of Jabor increases, ma:ngrzl reve’
(workers) (haircucs per day) nue product for a perfectly compedve firm
0 5 @ decreases because the firm must lowsai g iice to
; . = © ° sellalirger quantity.
5 B3 Q}/ decreasss because the miarginal produs: ../ fabe
3 m . deereasss. .
y 48 ) decreases bccaus* marginal revepue deci oz,
5 20 v - s consmant beeause marginal rcv%uﬁis. G an
3 : @  The demand for prodicrive rcsounccms diven vb;
¥ The above table has ourput information for Joe's " the demand for goods and services prédu
Barber Shop. Joe charges $6 per haircut. The thar resource. Thls phenomenon is referre
firm’s marginal revenue product of labor for the @ desicdemand.
third worker is equal to: : ﬂ. ] )omt demand.
$264. ® ioverse demand.
$48. _ . @ derived demand
S8. . . N
® SG'. W& The marginal revenue product of labor is ik

R e =
¥ The abci\': table has ourpurt information for Joz’s @  the change in toral revenue obtained fom pr-
. Barber Shop. Joe charges $6 par haircut. If the 2&, o ducing o:c svore waiy of ourpus: e

wage rate is $24 per worker, what quantity of Jz- P s 2 i
= P » what quandty of l2 the change in output from hirdge ope masc

bor will maximize profits?
worker.

+ 1 worker, - é
i . the change in profit from hmn«7 one mors
2 workers. ; X worker.
4 workers. ‘ : ; in hi
o s o the change in total revenue from hiring one
W Yed G ) ; Bt~
- BIBEKALS - more worker.

- @ The above table has outpur informadon for Joe's
Barber Shop. Joe charges S6 per haircur. If the
wage rate falls from 524 per worker to $12 per
" worker, what happens to the quandry of labor

hired?

. A prisoners’ dilemma-type game
yields 2 dominant strategy non-cooperativ:
cthbnum ina smglc play of the game.
1 ' may yield a cooperadve equilibrium inare-
, peaced game if playcrs ‘communicate

it will increase and the new number of workers
hired is 2 ’ ‘may yicld 2 cooperative equilibrium i &z
it will decrease and the new number of workers P‘-'“Cd game if players fear each other
hired is2 ’ Al of th: abov: ANSWErs are correct.
- it will increase and the new number of workers o )
" niredis 5. W The ABC Nail Company has entered intc = sul;

sive agreement with the other firm in the irdist
the DC Nail Company. What occursin the saii

it will increase and the new numbsr of workers

hired s 3.
. b . mdustry if ABC decides ro cheat on r.hc agree-
ment
Firm A ' ‘
b Con] | § Wlmateritons
; e = :®  The rotal profics.in msnall industry will ze-
: Monopoly” || A: $5 A 58 crease.
| Firm B price B: 55 |B: -1 .‘ All of the above anmcrsarc correct,
Compeddve | A: -8 | A: $0
price B: $8 | B: $0 | W Ifboth frms in a.;duopoly‘ chedt on 2 coll. i

agrecment, the - L~
o @ prices will fall and both firms arc%%t@gf
. prices will rise and bo:&ﬁ:ms are worsiefF.
. prices will fall and boda firms ate worse off.
¥ prices will rise and bothfirms-are-berer ¢fF

B The above payoff mauix shows the economic
- profics (in millions of dollars) of two firms in 2
duopoly that have agreed to a cartel agreement to
restrict their output and set their prices equal
the monopoly price. Assuming the game is played
~ once, the equilibrium outcome is where
@  both choose the monopoly price.
. both choose the comperidve price.

firm A chooses the monopoly price and firn B
- chooses the compettive price.
B fm3B ch&?oscs the monopoly price and irm A

chooses the competitive prica

P18 the prisoners’ dilemrmz, ' %L
% the dominant strategy is to c;(::ﬁfd

the d ,
D o~ @ :ﬁhc - Stratcgywrcgl;a .
\ & dominant strategy dg d’:pcnds oz Borer i 2t

- player reaces. . .
————J_

¥ thereis no dominane mi’::cev
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- _ American
Cheart Comply
9 Cheac | A: SO | A:—52,000
Nadonal ' N: S0 | N: $4,000
Comply | A: $4,000 | A $3,000
N:-$2,000 | N: $3,000

¥ There are two can compam..s, American 2nd Na-

tional which have entered into 2 collusive agree-
The payoff matrix of economic profits is
above. If Both firms cheat on the collusive agree-

ment, what amount of economic profit is camcd

by American?
@ s
. $3,000
@ $4,000

-§2,000

W There are two can companies, American and Na-

tional which have entered into a collusive agree-
ment. The payoff matrix of economic profits is
abovs. If National is able to cheat on the

ment but American complies with the 2grezmzat,
what amount of economic profit will be 22rned by

Nationai!
$2,000
® 53000
@ 54,000
P 56,000

q.
(Y

™
>
"’

Oligopolizs are always characterized 25
producing identical goods.
producing differendated goods.
colluding whenever possxble.. o
having ﬁ.rms whose pnccs and quandtizs o..p_nd
on the prices and quantities set by the other 1
competing firms.

P Lo the long-run equilibrium, firms ina monoéo-
listically compeditve industry produce atan out-
put level where

& 7P>ATCbut MR=MC.

® P>ATCand MR> MC.

P=ATCand MR = MC.

B P-ATChut MR> MC.

- ¥ When new firms cnter 2 monopolistically com-

pedtve industy,

@ ach oisting firm’s demandairve shifts right-
ward.

@ each existing firm’s demand curve shifts left-

=~ ward

. each cxistng firm’s marginal cost curve shifts
righrward.

0 each existng firm’s marginal cost curve shifts
lefrward.”

Product differentiation. exists within an indusay if

@ there are no substrutes for 2 product.
. @ there are dose but not perfect substitutes for

~-gr

l)»‘ -
e

w

W

W I

a prisoners’ dilemma garhe, which o4

lowing strategies gives the best outcoms!

prisoners?

% ' Both deny (collusion).

@ Borth confess (not collude).
® One confesses while the other denie:,.
' ~ Nong of the above.

BT Economic profit in monopolistic comy

. d-ﬁmtcly leads to

-
‘ o
e

ll

®
.
®
)

.2 lefeward shift in each firm’s demare

_new firms enter the market.

a rightward shift in cach firm’s

__ _as new firms enter the marker.
an upward shift in each firm’s cost cu
firms enter the marker.

All of the above answers are correct.

A firm is said to have excess capacity v
it produces a level of ourput such th:
greater than marginal cost.
it produces a level of outpur such thz
revenue is greater than marginal cost
it produces a level of ourpur smaller
which minimizes average total cost
it produces a level of output larger t
which minimizes average total cost.

Which of the following is TRUE abou
maximizing monopolistically competir
its long-run equilibrium?

P=MC.

P=MR

ATC=MC.

P=ATC.

When comparing perfect competition

nopolistic competition, we find that
monopolistically competdtive firms p:
identical products like perfectly comp
firms
monopolistically competitive firms fa:
to enuy, unlike perfectly competrive
advertising plays 2 large role in mono;
compettion, unlike in perfect compe:
monopolistically compedtve firms 2
ers like perfectly compedtve firms.

Which of the following is not true?
Both monopolies and monopolisticz]
peddve firms can determine what pri
set

In-the long run, both monopolies as:
lisdcally comperitive firms earn nio c=
profic

. Both monopolies and monopolistical

petdve firms produce so that ME eqt
In the short run, both monopolies 2=
polisdcally compedtive firms can ears
nomic profit.



= ¥ Product differendation
l www.am‘ub ergses the monopolistc compettor to face 2
Y downsward-sloping demand curve.
means that the monopolistic compedror’s prod-
uct is a closa bur not perfect subsdure for the
products of its comperitors.
@ -nables the monopolistic comperitor o compete
... in product quality.
‘_, All of the above answers are correct.

3 -
~

' Price d1scr1mmamon by a monopolxst is less effec-
O dveif .
'., the good can be resold.
the vood has no subsdrutes.
@ e monoptht can idendify buyers by nﬂ].mc-
ness-to-pay.

' the good cannot be resold.

l Marginal (

Pries Quandry | revenus | Tozal cost
(dollzzs) | demmanded | (doliars) (dollars)
|30 0 l 0 {35
- 1 | 27 1 28
b L "2 T O m 1 s

=4 3 ®] 15 ¥ i

i§ 4 | 9 | 49

15 5 1 3 1 60

% 6 3. 1 73

9 7 -9 | 88

W Using the daw in the above table for 2 single-price

rmonopolist, how many units of outpur will be
produced?

Q 3 units.

f 4unis
D uruts.
’ 6 units,

BF Using the dau in the above table for 2'single-price
monopolist, how much total economic profit doss
the monopolist earn?

@ 5o ' 2 !
@ s
"@ $13.
® 2
' If the smblc-pncc monopohst whose cost and
dernand dara are in the above wble were forced to
produce 5 units of output, what would be the
monopolist’s economic profit?

-g
g
2 5
8
2
0 7 10\ 13 PR
) MR
Consider the monopohst dcpxcred : 1,
above. The profit maximizing leve! = = sy
51nvl~-prxoc monopohst is
@ o @i
& 13
@
¥ Consider the monopolist depicted in the fig
above. The price 2 single-price monepolist v
charge for the profit-maximizing level «f Dw
& i
:: 1
$9. - -
' S11. -

By 1f the above figure illuserated a perfecdy com
tve industry, the equilibrium mdustr' SHTpY
would be equal o - _ _

@ ‘
@ . g %
® 1 '
w® 2.

B If the above figure illustrated 2 perfecry con
tive industry, the equilibrium industsy price
would be equal ro

@ st .
@ 5. , _ é%
O g
@ sl

.’ In the above figure, if a single-price zonox
maximized its profit.the deadweighs - ia

market is equal 1o the area
& e J S gﬁr
@ o
® o ‘@
@ bch

maximize profir, : {3, monopolist produces
on‘:hc pordon of its demand where
® cbsic P-MC
g ' elastic MR = MC
@ inclsic P=-MC
B in-bsic MR=MC '

@ Ii the long-run, a single-price mongj= i will
not be able to continue$o eam econLiiG prc
and will break even with 2 normal pnut.

be able to continue to earn economic mnfits:
long as the miarket remains 2 moncypsi;y.

end up being regulated by the govermn:=ut be

cause it is making short-run economic profics

.-
.
Oy
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— . — —  peudvefirm. At the profic maximizing level of — —

~\$

60

48

Price and cosls {dollars per unil)

8 1012 16 20 24
Quantity (units per day}

0 4

The above figure depicts 2 monopolistcaliv com-

pedive firm. What is the profit maximizing level
o ofoqut the firm will produes? B
4 units per day
8 units per day
@ 10 unics per day
16 units perday

9 The above figure depicts a monopolisticaliv com-

pedidve firm. Wha price should the fimn charge?

® s12
® 24
® 536,
W Noneofche abovc answers are correct.

The above figure depicts 2 monopolistcally com-
peddve firm. At the profit maximizing level of
outpur,
# the firm is making cconomic profit
@  the firm incurs an economic loss.
the firm is making zero economic profic
@ this irm would choose to shut down in the
short run.

B The above figure cicpicm 2 monopolisdcally com-

ourput, excess capacity for the firm is equal o:
# 0unics per day. :
'\ 4 units per day.
8 units per day.
. 16 units per day.

A

B As 2 result of using the marginal cost pricing rule
to regulate 2 natural monopoly,
- @  the nawurl monopoly will incur an economic
loss.
the narural monopoly earns a normal profic
@) the monopolist produces an inefficient amount
of product. -
® monopolist is allowed to cover all its costs
and eam a normal profit.

BWIn the case of 2 petfectly price-discriminaring mo-
nopoly, there is no
@  transfer of consumer surplus to the producer.

Prico and cosls [dollurs par unil)

d] Q; Q3
Quonhty (unns per ¢

&= In the above ﬁerurc, the monopohsuc«m ¥

peddve firm producss

~ @ Q andsesthe priceat .
@ Q, andsersche priceat 2.
@ Q, and sets the price at ).
[ Q, and seis the price at 2.

B ;o the above figure of 2 monopolistically co
cddve firm, the marginal cost of the last u
produced is

equal 10 ; and is greater than marginal re
@  cqualto P; and is greater thin marginal re

@ cqulo P, and is greater than marginal re

-~

equal to P] and is equal to marginal reven

®f In the above figure of 2 monopolistically cc
pedtve firm, the area of economic profit is

@ 403
& ABC g

B The zbove figure shows a.monopolisticaily
peticive firm. The figure
is only a shore-run illusrration, because th
is eamning an economic profit.
could be cither a short-run or long-run it
ton because monopolistically compericve
can eamn an economic profit in the long-:
is only a long-run illustration becau3e ke
camning only 2 normal profic
is neither a short- nor 4 long-run illustrar

In the above ﬁgurc, in the long run, this s
polistically competive firm will
produce more outpur at a higher price,
no change in costs of producton.
produce less outpur at a lower price, assuz:
no change in costs of |
produce the same quantity at the same pric

Arnv af the shave ore maccihls

" !
TR
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Quandry

P The wbic above gives the demand for a monopo- rg
list’s ourpur. Berween which two quantides is.
marginal revenue equal to 07 -

4and 5
® 3and4d
® 2and3
® land2

§ The table above gives the demand for a monopo-
# list's output. Between which two quanddes is de-
mand elastc? '

® 6Gand> ,
® 5andi4 t
® 4and3 '
@® 35and2

¥ The wable above gives the demand for 2 monopo-
list’s output. What is the total revenue in the

when 3 units of outpur are produced?

821
& . s20.
® sl1s.
9 6.

The table above gives the demand for 2 monopo-
‘ list’s output. What is the marginal revenue when
' ourtput is increased from 5 to 6 units?
@ s ‘
. 54.
A _‘ $3.
@ -5

The table above gives the demand for 2 monopo-
list’s outpur. What is the marginal revenue when
output is increased from 2 to 3 units?

R

Prics @F A Ssingle-price monopolist will always produ
(units) {dollars per unic) . where the elasticity of demand
1 3 s is greater than 1.
5 7 1q is smaller then 1.
3 3 @ equalsl.
4 % S g ' cqunls i.ﬂﬁni!}’.
> 4 W A monopolist thar operates along <. : st
6 3 of its demand will find that
L

N

q

total revenue increases when pu £e i
total revenue decreases whep price &0 o
mzrgmal revenue is negative, -

itis more profitable to operage alony =+
tic range of the demand af

-

T

Fora smah:-pncc monopohst,
MR = P always.

MR < P always.
MR first increases and then decreases wir
quantity sold.

- MR first decreases and then increases wit
quintity sold.

-

v o.“l

A monopolist can

sell as much as he or she wants at the chos.
price because he or she is the only sellcs,
... increase price and quandry sold a: the
dme.

- increase pricé.only if he or she is willin
decrease the quantiry sold.
is not restricred by the law of demand.

-
@
o
o

W Ao monopoly is defined as:

® :makerin which comperition and eniry ¢
siticted by the granting of 2 vovcnmc.n L

. @ . 2o indusuy in which oncﬁrmmnsu vty

* entire ma.rl\c; at a lower prxce than two or :

firms: .
2 marker in which comptnuon i and enery a
swicted by the granting of 2 pacent
any marker where one firm construtes the ¢

industy.

=n

.

5 oo govcmmcnt graots a firm 2 pub,_w- b2

10 supply coal, a;monopoly is created &

- @P.. 2 nawural barrier ro enmy.
- alegalbamcrtoenu-y

: e price discrimination. B

@ Al of the above answers are corzer

LS

el e range of the de-

S

e of the dernand

[ ]

w ‘Which of the following is N@T adecisicn &

gb . must make in the shore run?

Whether 1o enter or leave:an in

" Whether 1o producc or shut do
- What quantity'to préduce.

None of the above. fznswcrs are corrers Becat
all are decisions firris moust. miake in the sho.

n.
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Toral cost
{dollars)

Quandty
{eloves per day)

80

100

105

s
~
o

DI AN W o~ o

B The above wble shows the pzr dzy toal cost for
Kiley’s Baseball Glove Company. Fach glove is
priced at $50 and Kiley's Bascball Glovs Com-
pany is a perfectly comperitive firm. Berween
which two output levels doss Kiley's Baseball
Glove Company earn an economic proiic?

Oznd 8

12nd 8
2z2nd7
5and 6 X

«

7-3/5
® ovell

-' In periect competition,
the marker demand for the good is pacfectly
" clastic but the dernand for the ourput o
firm is not perfecdy elasde.

 ¢elastic but the demand for the output of one
firm is perfectly elastic. X
both the market demand for the good and thé

. d=mand for the output of onz firm are perfectly .

clastc

neither the market demand for the good nor the
demand for the output of one firm is perfecty
clastic. ‘

B Pecfecdy competitive firms have a tozal revenue
curve thar is
@ upward sloping with increasing slope.
@ downward sloping with constant slope.
@ upwad sloping with dscreasing slope.
" @ upward sloping with constant slops: X

If demand for Farmer John’s maple syrup is ine-

lastc, then when Farmer John raises the price of

. maple syrup, his toral revenue will
Do Q increase, X
‘ decrease. i
® suythesame - T
@ probably change, but more informaton is

needed to determine if the tozal revenue in-
creases, decreases, or stays the same.

Increasing opportunity cost is due to
firms’ needs to earn meore and more prbﬁts.
ever mcmsmg taxes.
the fact thar it is more difficult r use resources
efficiendy the more sodety produces.
the fact thar resources are not equally suited for

the market demand for the good is not parfecdy

" B Cposider the perfectly com;&cddﬁ firm in

Price [dollars per unil)

| : b i
0 AW 17 19
‘ Quaniity
" Con;idcr i:hc"pcrf-cctly competitive Grmm
above figure. The profit maximizing leve:
puz for the firm is equal to
0 units.
14 unis.
@ 17 unics |}
@ Ouwic
$¥ Consider the perfectly competinve firm inf8
above figure. At the profit maximizing lev
_ougpu, the firm is earning
an sconomic loss equal to $119. X
2n sconomic loss equal to $114.
zn sconomic loss equal to $102.
2 normal profit.

eom®

above figurc. The shutdown point occuss a
-price of

® s X
® s
® sié.
9 =2
B Cossider the perfectdy comperitive firm in @
above figure. Whar will the firm choose w
the shor-run and why?
@ Shut down because the firm incurs an ecos
loss.
[ ] Stay m,b iness because the firm is maziing
 cconomic proﬁr_
0 Stay in business because the ﬁrm S eCOnGT
: is less than fixed costs. X
' Stay in: business, bur produce a different iev
ourput, because the firm incurs an econcc:
los's

Consxdcr the perfectly compcuuvcﬁﬁm in
above figure. At whar price will long-run equi

riumn occur?
@ 51
® 1
@ s Kk

® s

- If demand is inelastic, an increase in the p.ite

. decrease toral revenue.

® incease roual revenue.
V. I .



= Thc tablc above gives costs at Jzn’s Bike Shop.
Unfortunately, Jan's record keeping has besn
_spotry. Each woiker is paid $100 a day. Labor
_costs are the only variable costs of producuon
What is the toral cost of producing 50 bikes?

¥ The wable above gives costs 21 Jan's Bike Shop.

Unfortunatzly, Jan's record keeping has been

< spotty. Each worker is paid $100 z day. Labor

costs are the only variable costs of production.
What is th tozal fixed cost 2ssozizied wizh. pro-
duzing 64 bikss?

@ The table above gives costs at Jzn's Bike Shop

Unfortunaraly, _]a.n s record k=zping has been
sportry. Each worker is paid $100 2 dz} Labor
costs are the only variable costs of production.

! o
~ L ; Total Total Toual |i =
| Www.amal-auborg | Oucpuc | fixed cost | varizble cost | cost i -
(workers) | (bikes) | (dollars) | (dolars) | (dollzrs) i 2 alh g
0 0 200 o EEZE - A
1 20 Ao0 100 295 | 3
z 50 Roo | o0 Yoo i
3 60 | Keo wo | Gge |-
£ 64 | A0o | CGoo | &2 i

@ S100 Books {nes miav
& gi’.OO W Consider the change in the price of 5 * 2.
‘Q- Pty ‘1 picted in the above figure. The o:ic:
®. 5400 : S £

g..

I =
$200 & i '
g $300 i W Consider the chang: in the price of » ¢
@ $:500 picted in the abovc ngure. The origin 3
® 5300 i line is BC. The new bUdOet lineis B2, 45 .

. of this price change, the income effect cun be

gso_s

line is BC. The new budger linz is 5. 4
of this price change, the substiruzion ¢fect
'-prcscntcd by a movement from
pointA4 to point £. Y
point.4 to point G.
point Fto point G.
point 4 to point F.

resznted by 2 movement from
point Eto'point £, X
point G to point A.
point G to point F,

What is the tozal variable cost associated w n.h point 4 to point F.
® producing 60 bikes? s

@ 5200 '- Prce | Quantiry

® 300 X (dollars per+ | demanded-

@ 5400 cellular phone) | (thousands)

® 5500 100 50 |

80 55
@ Which of the following causes the production - 50 : 60 <.
possibility frondier to have a bowed out, curvi- 20 100 4%

linear shape? :

& The assumpdon that resources are Sp‘ClallZCd X
® The assumprtion that resourcss are not special-
ized

The scarcity of resourees. >0 thousand and $100. ., |

M

: S
The point that moving along the PPF technol- ~ 80 thousand and $80. [ \
ogy is held constant ' : L4 XGO thousand and §50. -

P 4dousandand 20 ° T et
EEF Using the data in the above tble, ar the price ¢
$80 2 phone, a
shorrzgc of 25 tbousa.nd cellular elephona o

¥ The fact that opportunity costs increzse while
moving along a production possibilicy fronncr
suggests that a.oroducuon possibility fronder for
any economy will :

reach 2 minimum and then rapidly increase.

be a straight line with a constant and posidve

slope.

be bowed out, away from the origin. K
‘ be bowed in, toward the origin

uu € surplus of 80 thousand cellular ;c!cp LT OC

0 )(Surplus of 25 thousand cellular selepkozes e-

e Sh‘-"MgC of 55 thousand cellular telepze: oc

- CUrs.




